Mutually Exclusive and Exhaustive Events GREEN
1) Say whether these pairs of events are mutually exclusive (M) or not (N):
	Event
	M or N?
	E?

	Tossing a head with a coin / Tossing a tail with a coin
	
	

	Throwing a number less than 3 with a dice / Throwing a number greater than 3 with a dice
	
	

	Drawing a Spade from a pack of cards / drawing an Ace from a pack of cards
	
	

	Drawing a Spade from a pack of cards / Drawing a red card from a pack of cards
	
	

	(Choosing from a group of three girls and two boys): Choosing two girls / choosing two boys
	
	

	Drawing a red card from a pack of cards / drawing a black card from a pack of cards
	
	

	Winning a football match / Drawing a football match
	
	

	Eating toast for breakfast / Eating chips for dinner
	
	


2) Which of the pairs of mutually exclusive events in Q(1) are also exhaustive (E)?

3) Here are the probabilities of some events happening, write down the probabilities of the events not happening:

a) P (h) = 0.3

P (not h) = _____
b) P (h) = 0.52 

P (not h) = _____
c) P (h) = 0.21

P (not h) = _____
d) P (h) = 25%

P (not h) = _____
e) P (h) = 98%

P (not h) = _____
f) P (h) = 55.5%
P (not h) = _____
g) P (h) = 2/5

P (not h) = _____
h) P (h) = 12/15

P (not h) = _____

4) Albert and Alice play a game of noughts and crosses. From looking at previous games, the probability of Albert winning is 0.31, the probability Alice will win is 0.45. What is the probability of a draw? P (draw) = _____
5) There are some blue, red, green and purple balls in a bag. Find the probability of a purple ball being pulled out if these are the probabilities of the other colours:
	Blue
	Red
	Green
	Purple

	0.2
	0.4
	0.3
	


	Blue
	Red
	Green
	Purple

	0.15
	0.42
	0.23
	


	Blue
	Red
	Green
	Purple

	35%
	21%
	40%
	


	Blue
	Red
	Green
	Purple

	3/20
	1/5
	3/10
	


6) A spinner consists of an outer ring of coloured sectors and an inner circle of numbered sectors, as shown.

a) [image: image1.png]


The probability of getting 2 is ¼. The probability of getting 1 or 3 are equal. What is the probability of getting 3? P (3) = _____
b) The probability of getting blue is ¼. The probability of getting white ¼. The probability of getting green is 3/8. What is the probability of getting red? P (red) = _____
c) Which of these pairs of events are mutually exclusive (M) or (N)?

i. Getting 3 / getting 2

_____
ii. Getting 3 / getting green
_____
iii. Getting 3 / getting blue
_____
iv. Getting blue / getting red
_____
Mutually Exclusive and Exhaustive Events AMBER
1) Say whether these pairs of events are mutually exclusive (M) or not (N):
	Event
	M or N?
	E?

	Tossing a head with a coin / Tossing a tail with a coin
	
	

	Throwing a number less than 3 with a dice / Throwing a number greater than 3 with a dice
	
	

	Drawing a Spade from a pack of cards / drawing an Ace from a pack of cards
	
	

	Drawing a Spade from a pack of cards / Drawing a red card from a pack of cards
	
	

	(Choosing from a group of three girls and two boys): Choosing two girls / choosing two boys
	
	

	Drawing a red card from a pack of cards / drawing a black card from a pack of cards
	
	

	Winning a football match / Drawing a football match
	
	

	Eating toast for breakfast / Eating chips for dinner
	
	


2) Which of the pairs of mutually exclusive events in Q(1) are also exhaustive (E)?


3) Here are the probabilities of some events happening, write down the probabilities of the events not happening:

a) P (h) = 0.3

P (not h) = _____
b) P (h) = 0.52 

P (not h) = _____
c) P (h) = 0.21

P (not h) = _____
d) P (h) = 25%

P (not h) = _____
e) P (h) = 98%

P (not h) = _____
f) P (h) = 55.5%
P (not h) = _____
g) P (h) = 2/5

P (not h) = _____
h) P (h) = 12/15

P (not h) = _____

4) Albert and Alice play a game of noughts and crosses. From looking at previous games, the probability of Albert winning is 0.31, the probability Alice will win is 0.45. What is the probability of a draw? P (draw) = _____
5) There are some blue, red, green and purple balls in a bag. Find the probability of a purple ball being pulled out if these are the probabilities of the other colours:
	Blue
	Red
	Green
	Purple

	0.2
	0.4
	0.3
	


	Blue
	Red
	Green
	Purple

	0.15
	0.42
	0.23
	


	Blue
	Red
	Green
	Purple

	35%
	21%
	40%
	


	Blue
	Red
	Green
	Purple

	3/20
	1/5
	3/10
	


6) A spinner consists of an outer ring of coloured sectors and an inner circle of numbered sectors, as shown.

a) The probability of getting 2 is ¼. The probability of getting 1 or 3 are equal. What is the probability of getting 3? P (3) = _____
b) The probability of getting blue is ¼. The probability of getting white ¼. The probability of getting green is 3/8. What is the probability of getting red? P (red) = _____
c) Which of these pairs of events are mutually exclusive (M) or (N)?

i. Getting 3 / getting 2

_____
ii. Getting 3 / getting green
_____
iii. Getting 3 / getting blue
_____
iv. Getting blue / getting red
_____
Mutually Exclusive and Exhaustive Events AMBER
1) Say whether these pairs of events are mutually exclusive (M) or not (N):
	Event
	M or N?
	E?

	Tossing a head with a coin / Tossing a tail with a coin
	M
	E (H or T)

	Throwing a number less than 3 with a dice / Throwing a number greater than 3 with a dice
	M
	

	Drawing a Spade from a pack of cards / drawing an Ace from a pack of cards
	
	

	Drawing a Spade from a pack of cards / Drawing a red card from a pack of cards
	
	

	(Choosing from a group of three girls and two boys): Choosing two girls / choosing two boys
	
	

	Drawing a red card from a pack of cards / drawing a black card from a pack of cards
	
	

	Winning a football match / Drawing a football match
	
	

	Eating toast for breakfast / Eating chips for dinner
	
	


2) Which of the pairs of mutually exclusive events in Q(1) are also exhaustive (E)?


3) Here are the probabilities of some events happening, write down the probabilities of the events not happening:

a) P (h) = 0.3

P (not h) = _____
b) P (h) = 0.52 

P (not h) = _____
c) P (h) = 0.21

P (not h) = _____
d) P (h) = 25%

P (not h) = _____
e) P (h) = 98%

P (not h) = _____
f) P (h) = 55.5%
P (not h) = _____
g) P (h) = 2/5

P (not h) = _____
h) P (h) = 12/15

P (not h) = _____

4) Albert and Alice play a game of noughts and crosses. From looking at previous games, the probability of Albert winning is 0.31, the probability Alice will win is 0.45. What is the probability of a draw? P (draw) = _____

5) There are some blue, red, green and purple balls in a bag. Find the probability of a purple ball being pulled out if these are the probabilities of the other colours:
a) 
	Blue
	Red
	Green
	Purple

	0.2
	0.4
	0.3
	


	Blue
	Red
	Green
	Purple

	0.15
	0.42
	0.23
	


	Blue
	Red
	Green
	Purple

	35%
	21%
	40%
	


	Blue
	Red
	Green
	Purple

	3/20
	1/5
	3/10
	


6) A spinner consists of an outer ring of coloured sectors and an inner circle of numbered sectors, as shown.

d) The probability of getting 2 is ¼. The probability of getting 1 or 3 are equal. What is the probability of getting 3? P (3) = _____
e) The probability of getting blue is ¼. The probability of getting white ¼. The probability of getting green is 3/8. What is the probability of getting red? P (red) = _____
f) Which of these pairs of events are mutually exclusive (M) or (N)?

v. Getting 3 / getting 2

_____
vi. Getting 3 / getting green
_____
vii. Getting 3 / getting blue
_____
viii. Getting blue / getting red
_____
Can they both happen at the same time?





Are there other possible outcomes or are they all there?





Subtract from 1!





Can they both happen at the same time?





Are there other possible outcomes or are they all there?





Subtract from 1!





1 – (0.31 + 0.45)





Subtract from 1!








